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L. IFor a binary system, the f, - versus - x; relation can be expressed as

the following expression:

e

f, =X, exp (0.25-+0'.75 X,°)

A - . . . | "
where f, is the fugacity of component 1, and x, is the mole fraction
of component i. Pure component fugacity of component 2 is 1.65.

_ e
What is the expression for f, - versus - x; relation 2 What is the

Hériry’s constant for component 2 ? (30%)

2. A Steady stieam of gas G at 150°C and 50 atm flows through a

reversible device and leaves at 25°C and a 5 atm. The device is
allowed to have heat exChange with the surroundings at 25 °C. How

much work in cal can be obtained for each g-mole of gas G ? (20%)

' For gas G, C, (cal/g-mole’K) = 6.7+4.7 x 10T, T in K, and

it follows the following P-V-T relation

Pv/RT=1-0.667x10"P ,  Pinatm.

Gas Constant R = 1.987 cal/g-mole’K

(OW/3P) = v = T(8v/0T),  (8S/0P)y = - (OV/AT), (3s/AT), = C/T
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